SCANNEL NOV 2 4 2020

Form 990-PF

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0047

Department of the Treasury Internal Revenue Service Do not enter social security numbers on this form as it may be made public.
 Go to www.irs.gov/Form990PF for instructions and the latest information.

Open to Public Inspection

		ndar year 2019 or tax year beginning	, 2019, and ending , 20				
N	ame of fo	undation			A Employ	er identification numb	er
М	laterhou	se Youth Endowment Fund		п	,	46-3339507	
		d street (or P O box number if mail is not delivered to street address)	Roo	m/suite	B Telepho	ne number (see instruc	
6	2 Portia	nd Road		25		(207) 985-700	n
		n, state or province, country, and ZIP or foreign postal code			C If avams	otion application is pend	/
		nk, ME 04043			C il exemp	Mon application is pend	Jing, check here ►
			n of a former publi	o obority			
G	Cilec		•	CCHarity	D 1. Foreig	gn organizations, check	here ►
		=				n organizations meetin	
-		Address change Name cha		41		here and attach comp	
<u>H</u>		k type of organization: 🔽 Section 501(c)(3) exempt p		\mathcal{O}		foundation status was	
<u>_</u>		on 4947(a)(1) nonexempt charitable trust Other ta		-	Sections	507(b)(1)(A), check here	- LJ
ı		market value of all assets at J Accounting method	d: ☑ Cash 📙 /	Accrual	F If the fou	indation is in a 60-mont	th termination
		of year (from Part II, col (c), Other (specify)			under se	ection 507(b)(1)(B), chec	k here ▶ 🗌
_		6) ► \$ 1,939,311 (Part I, column (d), must b	e on cash basis)				
	Part I	Analysis of Revenue and Expenses (The total of	(a) Revenue and				(d) Disbursements
		amounts in columns (b), (c), and (d) may not necessarily equal	expenses per		investment come	(c) Adjusted net	for charitable purposes
		the amounts in column (a) (see instructions))	books	1			(cash basis only)
_	1	Contributions, gifts, grants, etc., received (attach schedule)		NAME OF THE OWNER, OWNE	N. T. HIM W	THE WALL BY	MATERIAL TOTAL
2./	2	Check ► ☑ if the foundation is not required to attach Sch. B	HISTORY WAS AND THE				TOTAL PARTY
	3	Interest on savings and temporary cash investments					TO THE PERSON OF
X	4	Dividends and interest from securities	34,14	0	34,140		
	5a	Gross rents		-	0.,		RATE TALES
ال.	Ь	Net rental income or (loss)	AMERICA STREET	13436	13/12/12/55	THE PARTY OF THE	
		Net gain or (loss) from sale of assets not on line 10	QA Q1	L'éticités.	7 1 1 2 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Mark Control	E-18-18-18-18-18-18-18-18-18-18-18-18-18-
	3 b	Gross sales price for all assets on line 6a	THE SHOP WE SE	THE SHAPE		AND THE PARTY OF T	AACAT WANN
on worked	7	Capital gain net income (from Part IV, line 2)		THAT PARTS	84,911		ACSC ADSCARDA
Ó	8	Net short-term capital gain	CONTRACTOR OF THE PARTY	* ************************************	64,311 た体状となっ	新年の日本日本記: 4元子の上の日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日	A STATE OF THE STA
	9	Income modifications		A STATE OF THE STA	SHOP NEW YORK		WESTERN CHARACTERS OF THE PERSON OF THE PERS
J	10a	Gross sales less returns and allowances	Saladini dang tang				PARTY NAMED AND ADDRESS OF THE
			Post come cons				SEPTEMBER STATE
	b	Less: Cost of goods sold .	NOTES WHEN THE	A LANGUE AND	LE PROPERTY	STEEL STATE OF THE	THE CHARLES AND
	l c	Gross profit or (loss) (attach schedule)		家門建筑	州北州 第9799		CANAL PROPERTY AND ASSESSMENT
٥	11	Other income (attach schedule)		 		<u> </u>	CONTRACTOR OF THE PARTY OF THE
	12	Total. Add lines 1 through 11 .	119,05	1	119,051	0	
ý	13	Compensation of officers, directors, trustees, etc		-			
ž	14	Other employee salaries and wages		 			<u> </u>
ğ	15	Pension plans, employee benefits Legal feet (attach school/le) SIM' 1	\				
, .	16a	Legal lees (attach schedule)	3,191		0		3,191
tive Expenses	b	Accounting fees (attach schedule) Other professional fees (attach schedule) SIMT 1		ļ			
.≩	C	Other professional fees (attach schedule) .	11,560		11 <u>,</u> 260		300
2	17	Interest					
Ž.	18	raxes (attach schedule) (see instructions)	1,442	2	617		0
	19	Depreciation (attach schedule) and pepletion . Occupancy RECEPTION .					WASHINGTON OF
5	20	Occupancy RECEIVE					
9	21	Travel, conferences, and meetings					
Ž	22	Printing and publications pp 2 9 2020 Other expenses (already softedule)					
č	23	Other expenses (algor sofiedule)		T			
Onerating and Administra	24	Total operating and administrative lexpenses					
2	!	Total operating administrative lexpenses Add lines 13 through 23 OGDEN.	16,193		11,877	0	3,491
غ غ	25	Contributions, gifts, grants pard	87,375				87,375
C	26	Total expenses and disbursements. Add lines 24 and 25	103,568	1	11,877	0	90,866
	27	Subtract line 26 from line 12	100,000	200	THE PARTY		
	a	Excess of revenue over expenses and disbursements	15,483				
	b	Net investment income (if negative, enter -0-) .		e a suc sec du papit	107,174	BITTAR STATE LESSED	The state of the s
	6	Adjusted net income (if negative, enter -0-)		ALTERNAT	107,174	THE PERSON NAMED OF THE PE	42756254465165
			THE REPORT OF THE PROPERTY OF THE PARTY OF T	I tradition to the	大きなない はかがれたかのか		WANTED BY CONTRACTOR OF A STATE

Pa	art II	Balance Sheets Attached schedules and amounts in the description column	Beginning of year	End o	of year	
	عبجد	should be for end-of-year amounts only (See instructions)		(b) Book Value	(c) Fair Market Value	•
	1	Cash - non-interest-bearing	53,682	69,210	69,210	
	2	Savings and temporary cash investments			3,7,3,3	
	3	Accounts receivable ▶	TO THE PROPERTY OF THE PARTY OF			•
		Less: allowance for doubtful accounts ▶	Tohnishing and a state of the second and second	CONTRACTOR	422 Par 15 STORTINGS THE WAY STORY STORY	
	4	Pledges receivable ▶				
		Less: allowance for doubtful accounts ▶			The second secon	
	5	Grants receivable	· · · · · · · · · · · · · · · · · · ·			
	6	Receivables due from officers, directors, trustees, and other	· · · · -			
		disqualified persons (attach schedule) (see instructions) .				
	7	Other notes and loans receivable (attach schedule) ▶	BOOK CONTROL S		STATES TO 18 14	
		Less. allowance for doubtful accounts ▶	AND TANKS OF THE PARTY OF	A STATE OF THE STA		
S	8	Inventories for sale or use				
şe	9	Prepaid expenses and deferred charges				
Assets	10a	Investments—U.S and state government obligations (attach schedule)	205,958	. 202,133	204 027	Stmt 2
`	b	Investments—corporate stock (attach schedule)				
	C	Investments—corporate stock (attach schedule)	1,203,802	117,878		
- 1	11	Investments—land, buildings, and equipment: basis ▶			121,105	Strnt 2
	''					
Ì	12	Less' accumulated depreciation (attach schedule)				
	13	Investments - mortgage loans				
		Investments — other (attach schedule)			States through the many the second should	
	14	Land, buildings, and equipment basis ▶				
	45	Less. accumulated depreciation (attach schedule) ▶				
ľ	15	Other assets (describe ►				
ŀ	16	Total assets (to be completed by all filers—see the				
		instructions Also, see page 1, item I)	1,463,502	1,478,985		
	17	Accounts payable and accrued expenses				
တ္ထု	18	Grants payable				
Liabilities	19	Deferred revenue			Sale and the sale	
ا ق	20	Loans from officers, directors, trustees, and other disqualified persons		***************************************		
! 은	21	Mortgages and other notes payable (attach schedule)				
_	22	Other liabilities (describe ►)				
_	23	Total liabilities (add lines 17 through 22)	0	0		
es		Foundations that follow FASB ASC 958, check here ▶ □				•
2		and complete lines 24, 25, 29, and 30.				
<u>=</u>	24	Net assets without donor restrictions			机在时间。1947年1940年	
m	25	Net assets with donor restrictions				
und Balances		Foundations that do not follow FASB ASC 958, check here ▶ ☑				
		and complete lines 26 through 30.			"在我们"	
ا ہ	26	Capital stock, trust principal, or current funds	<u>-</u>			
8	27	Paid-in or capital surplus, or land, bldg, and equipment fund			是此种的	
Se	28	Retained earnings, accumulated income, endowment, or other funds	1,463,502	1,478,985	能是完成	
SS	29	Total net assets or fund balances (see instructions) .	1,463,502	1,478,985	在TRACES EN	
Net Assets or F		Total liabilities and net assets/fund balances (see				
Ž		instructions)	1,463,502	1,478,985		
Par	rt III	Analysis of Changes in Net Assets or Fund Balances				
1	Total	net assets or fund balances at beginning of year-Part II, colui	mn (a), line 29 (mus	t agree with		
		of-year figure reported on prior year's return)		1	1,463,502	
2		amount from Part I, line 27a		2	15,483	
		increases wat makingly dad in line O (tagging)		3	0	
		ines 1, 2, and 3		4	1,478,985	
_				5	0	
6	Total	eases not included in line 2 (itemize) ► net assets or fund balances at end of year (line 4 minus line 5) — f	Part II, column (b), lir	ne 29 6	1,478,985	
					Form 990-PF (2019)	

Part	V Capital Gains an	d Losses for Tax on Investr	nent Income			
					(c) Date acquired (mo , day, yr)	(d) Date sold (mo , day, yr)
1a	Publicly Traded Securities	- short term				
<u>b</u>	Publicly Traded Securities	- long term				
<u>c</u>	Capital Gain Distributions					
d				 		
<u>e</u>		(0.00)		<u> </u>		<u> </u>
	(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or plus expe	other basis nse of sale		n or (loss) f) minus (g))
a	22,366			22,674		(308)
<u>b</u>	324,309			242,662		81,647
c	3,572			0		3,572
<u>u</u>						
	Complete only for assets sho	owing gain in column (h) and owned	by the foundation	on 12/31/69	//\ Gains (Col	(h) gain minus
	(i) FMV as of 12/31/69	(j) Adjusted basis as of 12/31/69		s of col (i) (j), if any	col (k), but not	t less than -0-) or rom col (h))
а						(308)
b_						81,647
<u>c</u>						3,572
<u>d</u>						
е		()(=====	alaa aatau in Da	- 1 line 7 1		
2	Capital gain net income o		also enter in Pa , enter -0- in Par		2	84,911
3	If gain, also enter in Part	in or (loss) as defined in sections I, line 8, column (c). See instru				
Dood		ler Section 4940(e) for Redu	read Terran N	J	3	(308)
Part		ivate foundations subject to the				
Was t		e this part blank section 4942 tax on the distribu qualify under section 4940(e) Do			pase period?	✓ Yes ☐ No
1	Enter the appropriate amo	ount in each column for each yea	ar; see the instru	ictions before ma	akıng any entries.	
Cale	(a) Base period years ndar year (or tax year beginning in	(b) Adjusted qualifying distribution	s Net value of	(c) noncharitable-use as		(d) ribution ratio livided by col (c))
	2018					
	2017					
	2016					
	2015					
	2014					·
_	Total of line 4 and one (d)					
2	Total of line 1, column (d)				. 2	
3		for the 5-year base period—div bundation has been in existence			· · · · · · · · · · · · · · · · · · ·	
4	Enter the net value of non	charitable-use assets for 2019 fi	rom Part X, line !	5	4	
5	Multiply line 4 by line 3		• •		. 5	
6	Enter 1% of net investmen	nt income (1% of Part I, line 27b)			. 6	
7	Add lines 5 and 6 .				. 7	
8	Enter qualifying distribution If line 8 is equal to or great	ons from Part XII, line 4 . ater than line 7, check the box in	 Part VI, line 1b.	 , and complete t	. 8 hat part using a 1	% tax rate See the
	Part VI instructions	•		•		

Part	VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see	instr	uctio	ns)	-		
1a	Exempt operating foundations described in section 4940(d)(2), check here ▶□ and enter "N/A" on line 1.		V ₁	*	Ä		
	Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)				7		
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check			2,14	3		
	here ▶ □ and enter 1% of Part I, line 27b		in design	01	Ā		
c	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations, enter 4% of Part I, line 12, col (b)						
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only, others, enter -0-)			(0		
3	Add lines 1 and 2			2,14	3		
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only, others, enter -0-)				Ō		
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0-			2,14	3		
6	Credits/Payments:	ME		16.50			
а	2019 estimated tax payments and 2018 overpayment credited to 2019 6a 947				Ä		
þ	Exempt foreign organizations—tax withheld at source			au a			
C	Tax paid with application for extension of time to file (Form 8868) 6c 6c				9		
d	Backup withholding erroneously withheld			1			
7	Total credits and payments. Add lines 6a through 6d			947	7		
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached			(0		
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed ▶ 9			1,196	5		
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid > 10				0		
11	Enter the amount of line 10 to be. Credited to 2020 estimated tax ▶ 0 Refunded ▶ 11			(0		
Part	VII-A Statements Regarding Activities				_		
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		Yes	No			
	participate or intervene in any political campaign?	1a		1	_		
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes? See the						
	instructions for the definition	1b		1	_		
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials						
	published or distributed by the foundation in connection with the activities.		N. C.	1	1		
С	Did the foundation file Form 1120-POL for this year?	1c		1	_		
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			70			
	(1) On the foundation ► \$ 0 (2) On foundation managers. ► \$ 0	4		3	5		
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed			95			
_	on foundation managers ▶ \$0				à		
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	4 36.7	- San San State	7		
_	If "Yes," attach a detailed description of the activities.	300					
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles				á		
4a	of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes Did the foundation have unrelated business gross income of \$1,000 or more during the year?	3		· /	-		
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4a	<u>-</u> -	$\frac{\sqrt{a}}{a}$	-		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	4b		<u>a</u> ,	-		
•	If "Yes," attach the statement required by General Instruction T.	282328	231.25	V 12(4)(4)	ĭ		
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:						
	By language in the governing instrument, or	2		Salt.			
	By state legislation that effectively amends the governing instrument so that no mandatory directions that		4	994			
	conflict with the state law remain in the governing instrument?	6		T. E.S.	Į		
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7	7		-		
8a	Enter the states to which the foundation reports or with which it is registered. See instructions. ▶	48/432	30 M	59 X25 S	Ī		
	Maine			1			
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General				ĺ		
~	(or designate) of each state as required by <i>General Instruction G?</i> If "No," attach explanation	8b	المحصيدة	erration)	J		
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or	100	14. 14x	126	ĺ		
9	4942(j)(5) for calendar year 2019 or the tax year beginning in 2019? See the instructions for Part XIV. If "Yes,"	346834546	and the				
	complete Part XIV	9		1	1		
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their	-			• 1		
	names and addresses	10	ľ	✓			

Par	VII-A Statements Regarding Activities (continued)			
		14.74	Yes	No
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within t meaning of section 512(b)(13)? If "Yes," attach schedule See instructions			1
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualifi person had advisory privileges? If "Yes," attach statement. See instructions	ed 12		1
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption applicatio	n? 13	1	
	Website address ▶ n/a			
14	The books are in care of ▶ Christian L. Barner Telephone no ▶	(207) 98	5-7000	1
	Located at ► 62 Portland Rd, Suite 25, Kennebunk, ME ZIP+4 ►	0404	13	
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—check here			▶ [
	and enter the amount of tax-exempt interest received or accrued during the year • 15			
16	At any time during calendar year 2019, did the foundation have an interest in or a signature or other author over a bank, securities, or other financial account in a foreign country?	• —	Yes	No ✓
	See the instructions for exceptions and filing requirements for FinCEN Form 114. If "Yes," enter the name	of * **.*	32 17 2 7	1.5
	the foreign country ▶	i la		2 : 4.7
Par	VII-B Statements Regarding Activities for Which Form 4720 May Be Required			,
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.	trad .	Yes	No
1a	During the year, did the foundation (either directly or indirectly)	3.9		21. 20
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes	Vo :	1.0	
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a	-,4,5	1 1	
	disqualified person?		1	E.
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? . Yes I	242	2 4,	3
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? ☐ Yes ☑ f (5) Transfer any income or assets to a disqualified person (or make any of either available for	10 1.5,7		3 33
	the benefit or use of a disqualified person)?	. 3	1	
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the	2,75	- 5	
	foundation agreed to make a grant to or to employ the official for a period after	1 3 mg 42	2 1	1.32
	termination of government service, if terminating within 90 days) Yes	ار المار	, ,	4
b	f any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described	in	اشتا	1
	Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance? See instructions Drganizations relying on a current notice regarding disaster assistance, check here	1b	n/	a
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, the			
	were not corrected before the first day of the tax year beginning in 2019?	1c	-	<u>√</u>
2	Faxes on failure to distribute income (section 4942) (does not apply for years the foundation was a prival pperating foundation defined in section 4942(j)(3) or 4942(j)(5)):	te Fair	,	2 A
а	At the end of tax year 2019, did the foundation have any undistributed income (Part XIII, lines	7 10 2	بية الم. الم	
	6d and 6e) for tax year(s) beginning before 2019?	lo : "		7,1
_	f "Yes," list the years ▶ 20 , 20 , 20 , 20		0 6	\$
þ	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(-15 C	
	relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) all years listed, answer "No" and attach statement—see instructions.)		-Tri	a a
_	f the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.	2b	23.55	entite' i
С	> 20, 20, 20, 20	72		1117
За	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise	2. 4	3,3	
	at any time during the year?	ار ش		ومؤثويهمة
b	f "Yes," did it have excess business holdings in 2019 as a result of (1) any purchase by the foundation	" "	امر ج	No.
	lisqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the		MIT NO	,
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse		1	1000
	he 10-, 15-, or 20-year first phase holding period? (Use Form 4720, Schedule C, to determine if the		TE THE	
	oundation had excess business holdings in 2019.)	3b	1/	a
4a	old the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes			1
b	old the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize in			1 7
	haritable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2019:	97 4b		✓

om	ggn.	PF	120.	101

Page	6

Par	t VII-B Statements Regard	rding Activities	s for \	Which Form	4720	May Be F	Requir	ed (conti	nued)			
5a	During the year, did the foundat									_\$.#	Yes	No
	(1) Carry on propaganda, or oth	-		-	•	•		Yes Yes	✓ No		, j. 4	1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1
	(2) Influence the outcome of any specific public election (see section 4955); or to carry on, directly or indirectly, any voter registration drive?							3 - 3	ă,	4 47 3		
	•					Yes	✓ No	1 40 / 1	. grand c			
	(3) Provide a grant to an individ(4) Provide a grant to an organi							Yes	✓ No)		*' d _2 d
	section 4945(d)(4)(A)? See in		n a Crie		-		inbed ii	' □ Yes	✓ No		**	Lines
	(5) Provide for any purpose oth		. chari			arv. or edu	cationa		V NO	id.	174.14	
	purposes, or for the prevent							□Yes	√ No	,		
b	If any answer is "Yes" to 5a(1)-							ptions des			, ,	ا ت
	in Regulations section 53.4945	or in a current no	tice re	garding disas	ster ass	sistance? S	ee instr	uctions		5b		a
	Organizations relying on a curre	_	•						▶□] @i	4	7 25
С	If the answer is "Yes" to quest							_	_	[]	* 4	
	because it maintained expenditu			•			•	∐ Yes	∐ No	# · *		
6a	If "Yes," attach the statement re Did the foundation, during the y						omuumo			ارخور	ا قاي	
O _L	on a personal benefit contract?	ear, receive any				, to pay pi		, □Yes	√ No	J. 200	7	- F
b	Did the foundation, during the ye	ear, pav premiun	ns. dire	ectly or indire	ctlv. on	a persona	l benefi	_		6b	25.	
	If "Yes" to 6b, file Form 8870			,	,,	· province			•	ا ر بر	20.	· .
7a	At any time during the tax year, w									\$2.0	* * ***	
b	If "Yes," did the foundation rece	ive any proceeds	s or ha	ve any net in	come a	ttributable	to the t	ransaction	17 .	7b	n/	а
8	Is the foundation subject to the remuneration or excess parachu	section 4960 tax	x on pa	ayment(s) of	more t	than \$1,000),000 in			. 10	14 Egg 3	
Part											<u>/ '411</u>	16. J. 1
, ait	and Contractors	Jilicers, Direc	tors,	itusices, r	ounua	CIOII WIAII	ayers,	riigiliy r	alu E	прюує	ees,	
1	List all officers, directors, trus	tees, and found	ation	nanagers ar	d their	compens	ation. S	See Instru	ctions			
	(a) Name and address		(b) Titl	e, and average irs per week	(c) Co	mpensation		Contributions		(e) Expen	se acc	ount.
	(b) Ivanie and address			ed to position		not paid, iter -0-)		yee benefit j erred compe		other a		
Paige S	5 Hill		Pres, S	iec, Treas, Dir								
	land Road, Suite 25, Kennebunk, M	laine 04043	1 Hr. p	er week		0			0			0
	pher H. Hill		Directo				i		_			_
	<u>land Road, Suite 25, Kennebunk, M</u> I W. Pardue			er week -		0			0			0
	land Road, Suite 25, Kennebunk, M		Directo	er week		٥			0			0
<u>or i oit</u>	iuna read, sanc Es, reimebank, iv	101110 04043	1 7 III . pt	U WEEK								
	Compensation of five highest	-paid employee	s (oth	er than thos	se inclu	uded on li	ne 1—	see instru	etions	s). If no	ne, e	nter
	"NONE."			· · · · · · · · · · · · · · · · · · ·								
,	a) Name and address of each ampleus as	than 650 000	•	(b) Title, and a		(=) (======		(d) Contribu employee t		(e) Expen	se acc	ount.
,,	a) Name and address of each employee pa	aro more than \$50,000	U	hours per v devoted to po		(c) Comper	isation	plans and d	eferred	other al		
None												
									Ì			
									_			
	·- 						l					
Total n	umber of other employees paid of	over \$50.000			1				. ▶	Ale	one	
			 -	· · · · ·	•	 	<u> </u>				DE	

Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc 1 N/A 2		ndation Managers, Highly Paid Em	and Contractors (continued)	Part
N/A Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc 1 N/A 2 3 4 Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments. See instructions		. See instructions. If none, enter "NONE	· · · · · · · · · · · · · · · · · · ·	_3_
Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc 1 N/A 2	Compensation	(b) Type of service	(a) Name and address of each person paid m	
Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				N/A
Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2			· · · · · · · · · · · · · · · · · · ·	
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2				
Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 N/A 2			#F0 000 f	7 - 4 - 1
List the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc 1 N/A 2	None	<u> </u>		
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				
2 3 4 Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions	Expenses	d, etc	inizations and other beneficiaries served, conferences con	orga
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions	_		I/A	1 1
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				-
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				_
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				2 .
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				-
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				3
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A All other program-related investments See instructions				
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A 2 All other program-related investments. See instructions				4
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A 2 All other program-related investments. See instructions				-
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 1 N/A 2 All other program-related investments. See instructions				•
1 N/A 2 All other program-related investments See instructions				
All other program-related investments. See instructions	Amount	ear on lines 1 and 2		
All other program-related investments. See instructions			I/A	וַ ר
All other program-related investments. See instructions				
All other program-related investments. See instructions				2 -
		}		
3			ther program-related investments. See instructions	Allo
i				3 _
Total Add Bass 1 Abras at 2			Add lines 1 through 2	
Total. Add lines 1 through 3	<u>Non-</u> 9 90-PF (2019	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Add lines i through 3	otal.

Part	Minimum Investment Return (All domestic foundations must complete this part. Fore see instructions.)	ign found	ations,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
а	Average monthly fair market value of securities	1a	1,792,743
b	Average of monthly cash balances	1b	57,432
С	Fair market value of all other assets (see instructions)	1c	0
d	Total (add lines 1a, b, and c)	1d	1,850,175
е	Reduction claimed for blockage or other factors reported on lines 1a and		.,,,,,,,,
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	0
3	Subtract line 2 from line 1d	3	1,850,175
4	Cash deemed held for charitable activities. Enter 11/2% of line 3 (for greater amount, see	<u> </u>	1,030,173
	instructions)	4	27,753
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,822,422
6	Minimum investment return. Enter 5% of line 5	6	
Part			91,121 ns
1	Minimum investment return from Part X, line 6	1	91,121
2a	Tax on investment income for 2019 from Part VI, line 5		
ь	Income tax for 2019. (This does not include the tax from Part VI)		
c	Add lines 2a and 2b	2c	2,143
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	88,978
4	Recoveries of amounts treated as qualifying distributions	4	0
5	Add lines 3 and 4	5	88,978
6	Deduction from distributable amount (see instructions)	6	0
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		<u>_</u>
	line 1	7	88,978
Part	XII Qualifying Distributions (see instructions)	' 	- 00,070
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	2.11	
а	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1a	90,866
b	Program-related investments—total from Part IX-B	1b	30,000
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
_	purposes	2	•
3	Amounts set aside for specific charitable projects that satisfy the	200	0
а		3a	
b	Suitability test (prior IRS approval required)	3b	0
4	· · · · · · · · · · · · · · · · · · ·	4	0
5	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8; and Part XIII, line 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.	-4	90,866
J	Enter 1% of Part I, line 27b See instructions	_	
		5	0
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	90,866
	Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating qualifies for the section 4940(e) reduction of tax in those years.	g whether	the foundation

Part	XIII Undistributed Income (see instruction	ions)			
		(a) Corpus	(b) Years prior to 2018	(c) 2018 .	(d) 2019
1	Distributable amount for 2019 from Part XI, line 7				88,97
2	Undistributed income, if any, as of the end of 2019:			Encouraging the set McConst. J. Martine .	
а	Enter amount for 2018 only			87,375	
b	Total for prior years 20, 20, 20	HADEFIE STATE	0	學是是	WINGS THE PARTY
3	Excess distributions carryover, if any, to 2019				
а	From 2014				
b	From 2015 (
C	From 2016 (
a	From 2017				
· f	Total of lines 3a through e	OR STORY STO			
Δ'	Qualifying distributions for 2019 from Part XII,			Will Consider All Miles and State	
7	line 4: ▶ \$ 90,866				
а	Applied to 2018, but not more than line 2a .			87,375	
b					
C	(Election required—see instructions) Treated as distributions out of corpus (Election				
	required—see instructions)	0			
d	Applied to 2019 distributable amount : .		Transport of the Party Control of the		3,49
е -	Remaining amount distributed out of corpus	0	The same transport	TOTAL PROPERTY AND	FIRE TO THE STATE OF THE STATE
5	Excess distributions carryover applied to 2019 (If an amount appears in column (d), the same amount must be shown in column (a).)	o			(
6	Enter the net total of each column as indicated below:				
a	Corpus Add lines 3f, 4c, and 4e Subtract line 5	O			
b	Prior years' undistributed income Subtract line 4b from line 2b		` 0		
C	Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a)				
	tax has been previously assessed	Line and the last of the last	0	RESERVATION:	
d	Subtract line 6c from line 6b Taxable amount—see instructions		0		
е	Undistributed income for 2018. Subtract line 4a from line 2a. Taxable amount—see instructions			. ,	
f	Undistributed income for 2019. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2020				06 407
7	Amounts treated as distributions out of corpus to satisfy requirements imposed by section	TO PORTING TO THE PROPERTY OF			85,487
	170(b)(1)(F) or 4942(g)(3) (Election may be required—see instructions)	0			
8	Excess distributions carryover from 2014 not applied on line 5 or line 7 (see instructions).	0			
9	Excess distributions carryover to 2020. Subtract lines 7 and 8 from line 6a	0			
10	Analysis of line 9.	775-14-51574-5			
а	Excess from 2015 . 0				
ь	Excess from 2016				
C.	Excess from 2017		inderenante d'antiditation natur		
d	Excess from 2018 0 Excess from 2019 0				
4.7	LAGGAS HUMI ZULT	THE RESERVE WHEN THE PARTY OF THE PARTY WAS A TOTAL TO SEE A TOTAL	Carrie a recommendation with the property of the first of	CANAGE OF THE PARTY OF THE PART	2434. P. B. N. W. ARRIVE TO THE STREET OF THE P. C. L.

Form 0	, 990-PF (2019)					n 1 0
	XIV Private Operating Founda	ations (see instri	ictions and Part	VII-A question 9	Υ	Page 10
	If the foundation has received a rulin foundation and the ruling is effective for	g or determination or 2019, enter the da	letter that it is a ate of the ruling	private operating	N//	A
b			operating founda		ction 🗌 4942(j)(3	3) or 🔲 4942(j)(5)
2a	Enter the lesser of the adjusted net income from Part I or the minimum	Tax year		Pnor 3 years		(e) Total
	investment return from Part X for each year listed	(a) 2019	(b) 2018	(c) 2017	(d) 2016	
b	85% of line 2a					
C	Qualifying distributions from Part XII, line 4, for each year listed					
d	Amounts included in line 2c not used directly for active conduct of exempt activities			•		
е	Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the alternative test relied upon:					
а	"Assets" alternative test enter					
	(1) Value of all assets(2) Value of assets qualifying under section 4942(j)(3)(B)(i)				· <u>-</u>	
ь	"Endowment" alternative test—enter 2/3	-	• •		<u> </u>	· · · · · · · · · · · · · · · · · · ·
J	of minimum investment return shown in Part X, line 6, for each year listed					
С	"Support" alternative test - enter					
	(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from an exempt organization					
	(4) Gross investment income	L		1		
Part	Supplementary Information any time during the year-		•	ne foundation ha	ad \$5,000 or mo	re in assets at
1	Information Regarding Foundation		3.]			· · · · · · · · · · · · · · · · · · ·
a	List any managers of the foundation of before the close of any tax year (but of	who have contribu				y the foundation
N/A		,,		, . , , . (
b	List any managers of the foundation ownership of a partnership or other er					ge portion of the
N/A						
2	Information Regarding Contribution Check here ▶ ☑ if the foundation unsolicited requests for funds. If the fo complete items 2a, b, c, and d See in	only makes contri oundation makes o	butions to prese	lected charitable o	-	•
а	The name, address, and telephone nu		ress of the person	n to whom applicat	ions should be add	Iressed.
b	The form in which applications should	l be submitted and	information and	materials they shou	ld include:	
С	Any submission deadlines:					

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

3 Grants and Contributions Pa	nation (continued) aid During the Year or Appr	oved for E.	turo Paymont	
	It recipient is an individ	oved for Fu		1
Recipient Name and address (home or b	If recipient is an individ show any relationship any foundation manag or substantial contribu	to status of	Purpose of grant or contribution	Amount
a Paid during the year	or substantial contribu	itor		
Town of Kennebunk 1 Summer Street, Kennebunk, ME 04043	N/A	Gov	To support programming at the Waterhouse Center in Kennebunk, ME	87,37
Total			▶ 3a	87,37
b Approved for future payment N/A .				

		VI-A Analysis of Income-Producing A	ctivities				
Ente	er gro	oss amounts unless otherwise indicated.	Unrelated bu	isiness income	Excluded by sect	ion 512, 513, or 514	(e)
			(a)	(6)	(0)	(4)	Related or exemp
			Business code	(b) Amount	(c) Exclusion code	(d) Amount	function income
1	Pro	gram service revenue.	300000	,	Exolucion code	,oon	(See instructions
	а						
	b			·			
	c				 		
	-				 · · · · · - · · · · · · · · · · · 		
	ď		· · · · · · · · · · · · · · · · · · ·		 		
	e		ļ		-		
	f						
	g	Fees and contracts from government agencies					
2	Me	mbership dues and assessments					
3	Inte	rest on savings and temporary cash investments					
4		dends and interest from securities			14	34,140	
5		rental income or (loss) from real estate	1 1 = 1,	***		436	2
Ŭ		Debt-financed property		· · · · · · · · · · · · · · · · · · ·			
							
_		Not debt-financed property					
_		rental income or (loss) from personal property					
7		er investment income					
8	Gaii	or (loss) from sales of assets other than inventory			14	84,911	
9	Net	income or (loss) from special events					
10	Gro	ss profit or (loss) from sales of inventory					
11		er revenue: a		•			
	ь		-				
	c						
	d						
			 				
	е			 			
			("Jet" 1 1 1 1 1 1	0	3.5	119,051	
13	Tot	al. Add line 12, columns (b), (d), and (e)			<u> </u>	119,051	119,051
13 See	Tot wor	al. Add line 12, columns (b), (d), and (e) . sheet in line 13 instructions to verify calculation	 s.)				
13 See Pa	Tot wor	al. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation I-B Relationship of Activities to the A	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot wor	al. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation I-B Relationship of Activities to the A	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation I-B Relationship of Activities to the A	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051
13 See Par	Tot work t XV e No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	.s.) .ccomplishme	ent of Exemp	t Purposes	13	119,051

Part	XVII	Informatio Organizat		insfers to and Tra	nsaction	s and F	Relationsh	ips V	Vith N	loncha	ritable	Exe	mp
1 a	in s orga	ection 501(c) (dinizations?	other than section	y engage in any of the 501(c)(3) organizato a noncharitable ex	tions) or	in sect	ion 527, r					Yes	No.
		Cash									1a(1)	MA,SHORA	
		Other assets		•					• •	•	1a(2)		<u> </u>
ь		er transactions:	. ,		•	•	• •	•	• •			La La La	W. Albi
-			o a noncharitable ev	cempt organization							J	2234	
							•	• •	•		1b(1)		-
				table exempt organiz							1b(2)		<u>√</u>
				er assets				•	•		1b(3)		
	(4)	Reimbursement a	irrangements		•			•	•		1b(4)		<u> </u>
								•			1b(5)		
				ship or fundraising so				•		•	1b(6)		
¢		-		lists, other assets, or		-					1c		
đ	value	e of the goods, c	other assets, or sen	es," complete the fol vices given by the rep	porting fo	undation	. If the four	datior	n recei	ved less	than t	air m	arke
			,	gement, show in colu									
(a) Line	no	(b) Amount involved	(c) Name of non	charitable exempt organiza	ition	(d) Desc	ription of trans	ers, tra	nsaction	ns, and sha	ring arra	ngeme	nts
N/A													
										•			
		•											
								•					
										·			
		· · · · · · · · · · · · · · · · · · ·			- 1								
	-												
	-		 	 									
			 										
			 										
			 										
			 										
		 	L									_	
				affiliated with, or rela			ore tax-exe	empt o	organiz		_		
				ection 501(c)(3)) or in	section 5	277		• •	•		☐ Ye	s ✓	No
b	It "Ye		e following schedule										
		(a) Name of organ	lization	(b) Type of or	ganization			(c) Des	scription	of relation	ship		
N/A													
					,								
										 -			
				ed this return, including acco						ny knowled	ge and b	elief, it i	s true,
Sign	corre	ct, and complete Deci	aration of preparer (other th	nan taxpayer) is based on all i	information of	which prep	arer has any kni	owledge	Г	May the IR	S discus	e thie c	otum
Here		hino Hi	0 1	141170	Presi	ident			ľ	with the pri			
	Sign	ature of officer or trus	stee	Date	Title					See instruc	tions 🖟]Yes[]No
		Print/Type preparer		Preparer's signature			Date ,			_ 16	TIN		===
Paid				Basa	۔ ہو ۔	Bei	1 1	20,20	Check	lf [_
Prepa		Barbara I. Belik		L			1-1-1	, ,		 -		59740	<u>!</u>
Use C	nly	Firm's name	Bergen & Parkinson	LLC		·		Firm's	s EIN ▶	0	1-0513	838	

Firm's address ▶ 62 Portland Road, Suite 25, Kennebunk, Maine 04043

(207) 985-7000

Phone no

EIN #46-3339507

Part I, Analysis of Revenue and Expenses

Line 16a, Legal Fees	•
Tax Compliance and Consulting Fees	<u>\$3,191</u>
Line 16c, Other Professional Fees	
Investment Management Fees	\$11,260
Investment Advisor Tax Preparation Fee	300
	<u>\$11,560</u>
Line 18, Taxes	
Line 16, Taxes	
§4940 Tax on Net Investment Income	\$ 825
Foreign Taxes Paid on Dividends	617
	<u>\$ 1,442</u>

4

Part II, Balance Sheets Line 10a, Investments – U.S. and State Government Obligations

Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
Mutual Funds	to a second on the second of t			بيستيست المهداد أالمدا	
ISHARES BARCLAYS 3-7 YR TREAS BD CLOSED-END FUND IEI	525.0000	125.750	66,018.75	124.10	65,151.64
ISHARES BARCLAYS INTER GVT/CR BD CLOSED-END FUND GVI	1,225.0000	112.660	138,008.50	111 82	136,981.65
GVI TOTAL U.S. AND STATE G	OVERNMENT OBL	IGATIONS	\$204,027		\$20 2,1

Part II, Balance Sheets
Line 10b, Investments – Corporate Stock

: Equity

Equity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
Common Stock	and the same statement of the same of the		the second territory of the territory of the second te		
ALPHABET INC COM CL A GOOGL	35.0000	1,339.390	46,878.65	891.23	31,192.98
AMAZON COM INC COM AMZN	20.0000	1,847.840	36,956.80	1,763.17	35,263.40
AMERICAN TOWER CORP REIT AMT	100.0000	229.820	22,982.00	193.97	19,396.50
AMERIPRISE FINANCIAL INC COM AMP	50.0000	166.580	8,329.00	131.81	6,590.50
AMPHENOL CORP COM CL A APH	150.0000	108.230	16,234.50	87.76	13,164.48
APPLE INC COM AAPL	175.0000	293.650	51,388.75	68.55	11,996.50
BANK OF AMERICA CORP COM BAC	1,000.0000	35.220	35,220.00	25 00	25,001 60
BOOKING HOLDINGS INC COM BKNG	10.0000	2,053.730	20,537.30	1,276.08	12,760.80
CMS ENERGY CORP COM CMS	200.0000	62.840	12,568.00	26.24	5,248.00

Part II, Balance Sheets Line 10b, Investments - Corporate Stock

Equity			Market	Cost	
Description	Quantity	Unit Price	Value	per Unit	Tax Cost
COCA COLA CO COM KO	375.0000	55.350	20,756.25	42.73	16,024.50
COMCAST CORP COM CL A CMCSA	300.0000	44.970	13,491.00	35.06	10,517.00
COSTCO WHOLESALE CORP COM COST	50.0000	293.920	14,696.00	115,05	5, 75 2.50
DANAHER CORP DEL COM DHR	175 0000	153.480	26,859 00	86.79	15,187.76
DIAMONDBACK ENERGY INC COM FANG	100.0000	92.860	9,286 00	70.22	7,022.00
FREEPORT-MCMORAN COPPER & GOLD COM FCX	350,0000	13.120	4,592 00	11.94	4,177.25
HOME DEPOT INC COM HD	100.0000	218.380	21,838.00	100.97	10,097.25
INTEL CORP COM INTC	425.0000	59.850	25,436.25	31.57	13,417 25

Part II, Balance Sheets Line 10b, Investments – Corporate Stock

pulty							
Description	Quantity	Unit Price	Market Valu e	Cost per Unit	Tax Cost		
INTUIT COM	50.0000	261.930	13,096.50	97.23	4,861.50		
INTUITIVE SURGICAL INC COM ISRG	50.0000	591 .150	29,557.50	526.03	26,301.25		
JP MORGAN CHASE & CO COM JPM	200.0000	139 400	27,880.00	52.02	10,404.00		
MARKETAXESS HOLDINGS INC COM MKTX	50.0000	379.110	18,955.50	222.83	11,141.67		
MASTERCARD INC COM CL A MA	125.0000	298 590	37,323.75	97 75	12,218,20		
MCDONALDS CORP COM MCD	75.0000	197.610	14,820.75	93 55	7,016. 2 5		
MERCK & CO INC COM MRK	100.0000	90.950	9,095 00	47.38	4,738.00		
MICROSOFT CORP COM MSFT	475.0000	157.700	74,907 .50	66.97	31,812 25		

Part II, Balance Sheets
Line 10b, Investments – Corporate Stock

Equity

, Ednish			Market	Cost	
Description	Quantity	Unit Price	Value	per Unit	Tax Cost
MONDELEZ INTERNATIONAL INC COM CL A MDLZ	200.0000	55.080	11,016.00	40.67	8,134.00
NEXTERA ENERGY INC COM NEE	75.0000	242.160	18,162.00	189.47	14,210.25
NORTHERN TR CORP COM NTRS	100.0000	106.240	10,624 00	98.55	9,854.80
PARSLEY ENERGY INC COM CL A PE	500.0000	18.910	9,455.00	24.64	12,320.00
PIONEER NATURAL RESOURCES CO COM PXD	75.0000	151.370	11,352.75	159.59	11,969.25
PNC FINANCIAL SERVICES GROUP INC COM PNC	125.0000	159.630	19,953.75	134.31	16,788.13
PROCTER & GAMBLE CO COM PG	175.0000	124.900	21,857 50	83.42	14,598.67
PROLOGIS INC COM PLD	100.0000	89.140	8,914.00	65.26	6,526.00

Part II, Balance Sheets Line 10b, Investments - Corporate Stock

Equity		- a lapture de deser materiales.		~ - ·.	,
Description	Quentity	Unit Price	Market Value	Cost per Unit	Tex Cost
REPUBLIC SERVICES INC COM CL A RSG	275.0000	89.630	24,648.25	37.81	10,396.70
ROPER TECHNOLOGIES INC COM ROP	60.0000	354.230	21,253.80	173.68	10,420.80
SHERWIN WILLIAMS CO COM SHW	25.0000	583.540	14,588.50	284.32	7,108.00
Thermo fisher scientific inc com tmo	95.0000	324.870	30,862.65	92.58	8,795.10
United Technologies Corp Com Utx	125.0000	149.760	18,720.00	110.93	13,866.25
V F CORP COM VFC	100.0000	99 660	9,966.00	75.23	7,522 77
VERIZON COMMUNICATIONS INC COM VZ	225.0000	61.400	13,815.00	48.92	11,006.25
WALT DISNEY CO COM DIS	200.0000	144.630	28,926.00	102.80	20,559.25

Part II, Balance Sheets Line 10b, Investments – Corporate Stock

Equity			•• • •		
Description	Quantity	Unit Price	Merket Value	Cost per Unit	Tax Cost
XYLEM INC COM XYL	150.0000	78.790	11,818.50	80.61	12,092.00
ZOETIS INC COM CL A ZTS	175.0000	132.350	23,161.25	92.26	16,146.13
Total Common Stock			922,780.95		563,617.74
Mutual Funds					
ISHARES CORE S&P SMALL-CAP ETF CLOSED-END FUND IJR	900.0000	83.850	75,465.00	58.67	52,803.90
PRINCIPAL MIDCAP FUND OPEN-END FUND CL R-6 PMAQX	2,460.0930	30.860	75,918.47	22.41	55,131.20
Total Mutual Funds			151,383.47		107,835.10
Non-US Common Stock					~
CAMECO CORP COM CCJ	1,450.0000	8.900	12,905.00	12.08	17,523.00
Total Non-US Common Stock			12,905.00		17,523.00
Non-US Mutual Funds					
GOLDMAN SACHS INTL EQUITY INSIGHTS FUND OPEN-END FUND INSTL CL GCIIX	10,000.0000	12.990	129,900.00	12.39	123,900.00

EIN # 46-3339507

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Énded 12/31/19

Part II, Balance Sheets
Line 10b, Investments – Corporate Stock

Equity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
ISHARES CORE MSCI EAFE ETF CLOSED-END FUND IEFA	1,475.0000	65.240	96,229.00	60.55	89,309.56
JOHCM INTERNATIONAL SELECT FUND OPEN-END FUND CL, I JOHX	3,850.0000	24 020	92,477.00	21.82	84,007.00
NEUBERGER BERMAN EMERG - MKTS EQTY OPEN-END FUND INSTL CL NEMIX	6,775.0000	20.560	139,294.00	15.27	103,471.75
Total Non-US Mutual Funds	-		457,900.00		400,688.31
Total Equity			1,544,969.42		1,089,764.15

EIN # 46-3339507

Part II, Balance Sheets Line 10c, Investments – Corporate Bonds

Fixed income		-			
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
ISHARES INTERMEDIATE-TERM CORP BOND EXCHANGE-TRADED FUND IGIB	775.0000	57.980	44,934.50	55.96	43,366.99
ISHARES SHORT-TERM CORP BOND EXCHANGE-TRADED FUND IGSB	875.0000	53.630	46,926 25	53.01	46,382.00
VANGUARD MTG-BACKED SECS FUND CLOSED-END FUND VMBS	550.0000	53.170	29,243 50	51.14	28,129.01

TOTAL CORPORATE BONDS

\$121,105

\$117,878